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1. They are imaginary (covered in unit 4)
2. There are 4 real zeros
3. The power tells you the number of zeros, 
    so there are “m”
4. (x + 5)(x2 – 5)
5. (1 + 3x)(1 – 3x + 9x2)

HW 5-4 Answers

6. a. 4        7. a.   7
b. -        b.   +
c.                 c.

8 - 11 See next page
12. P(x) = x2(x + 5)(x – 3)
13. P(x) = x(x + 2)(x – 2)
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Day 5

Factoring & Solving
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Warm-Up:  
A function f has zeros at -1, 3, and 5.  We know that f(-2) 
and f(2) are negative, while f(4) and f(6) are positive.  
Sketch a graph of f.
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You have been given a set of problems.  
The directions for some say, “factor” whereas others say, 
“solve”.  
What‛s the difference between the two?  How would you expect 
your answers to look? 
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Factor completely each of the following:

1.  x8 – 1 2.  x4 - 2x2 + 1
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3. 64x6
 – 1

(hint: be careful with this one!)

4.  2x5 + x4 + 2x3 + x2
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5. x5n + x2n

6. 2(x + 2)2 + (x + 2) – 3
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7. 25x2n – 625

All of the previous problems were factorable.  
If we set each of them equal to 0, only some 
are solvable.  Why? 
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Solve each of the following (factor completely first):
1.  4x5 – 8x3 + 4x = 0 

2. x6 – 16x2 = 0
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3. x4 – 13x2 + 36 = 0

4. 3x4 – 24x = 0
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